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00000000000000000000 @Yoo g¢00000000000
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D00000000K,0FOOO0O0000000000000000 e KNF
0000000 (00000=0)0000000+0-0000000000
00004000000 -0000#000000e—-40 K, 0FO0000
000int(K, F)0000

K1 Kl

+///h —///%

] ]

oo 2.4. lk’(Kl,Kg) = ZTLt(Kl,F)

00. K;,UK,0OOOO K;,UK,DOOOS={K,000 K,0ODOOOOO
J0000D000K,000000000000000000S0000000 K,
0K,0000000000000000000000000 K,0K,0000F
O¢eSOO00D0000D00O0D00O0O00D00000000K,0FODOOO
0200000000

(1) SO0O000D00D K0 FOOODOOOD(0)(0D0D00=0)0000
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> e(q) = int(K{, F)
qeSs
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O000KINFO K{NFOOOOOOK;O K;000000000000000
00000000000000000000000000int(K,,F)=int(K],F)
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00 3.3.0X00OOOOO0OOOOR(X)0000 w(X)0OO
a(X) =n(X)+ w(X)
00 XO0ooooooo

gogobbobobbododooooobobobobbbooooooobobboobbooga
ggoooogo
00000 [2boo0o0000ooooooo

00 3.4. 000 XO0OOO0OOO0O XO00000000000 K,0K,0000
00000 XOO0OO0000000000000000000000000000
o(X)000000000 Ik(Ky,K,) 00000

OZ(X) = lk(Kl,KQ)
goooog
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0(0400000X00000000000000000000000000
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ooooon ]

goood
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0D000XO0O0O000000COKOOOOO0O000X00000200000
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lﬁ&DDDQ

0000000000000 00000Rn(X)020000000000000
0000000000 nX)0 200000000000
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0000«Y)=40(X)000000 0
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gb. dboobuoobgobobbobooboobooboob

gooooogoobbbobbbuooooooobbboobbbouooooood
gboboboooobobobobooboboboboobbob+bob=0
gogbooodg

gboobboobooboobbooboobooobooboboboboo
DDDDDD+%DD—%DDDDDDDDDDDDDDDDDDDDDDDDD
gboobgoo200b000b00obobbobboboobooboobo

0000000 100000000 0bO0oUobDoUObbO 20 AQOODO
lgobobooco0oooooooooOo 20 pO0OOOIODOOOODOOO
uggn

0000000 s0000000 CO0ODO0ObOO0OODUODOODOODODODOD
oo0 4k+10 (k=0,1,2,---)000 CO00D00OODODO4k+30000 DO
gobobooboooooon

oooboobooooobooooobeb copooobbooobooboooooD O

0054000 55000000000 000DODO0OLODODOOOD 20 ADOO B
gobooboooooboobobobebCcoobopbobbooboobOobOooboOg
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OO0 s6. 0000000 1000DO00DOOOODOODOOODDOOO20A
OpO0060CODOOOODODOOOOODOO

00.00000000000000000 +2000000000000000
000 AQ BOOOODOOODODADOODDOODBOOD0O+1000000
0000DBOD00OD0ONOODOOODDDO0DDNDDN0ONOO0AD B
0000000000000

000000CO0000 +i0D00000 +30000000000D00
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00000 4|0pri0p8l00000000ODO0OOODOOOOOODOOOOO
goooogoooo

00 6.1.00000 LO0000D0000O000O0O0O0O0O0O0O000O0 Vi(z) € Z[Z]

gboooboobgoobo
oooc,O0:00D000 L0 L/Oooooooooo
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oo0o0c,0:b00boogobob0obogo
Vo(Z)Zl.

O0D0CO:30000000 K,L,MOODODOOODDDOOOODOOODOO
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00000000000000000000000
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gbooboobooboon
Vi(z) = Vi(2) = 2Vu(2).
O000Z[}z]0 :00000000000000000

O000C,000V,(») 000000000000 0000000000vVL(2)0O
00000 LO0000000O0000 [Ljocoooo0o0ooooooo
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